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SECTION A

State whether the following statements are TRUE or FALSE.

Q1 Sentinel loop is used when the number of iteration is known.

Q2  Anarray must be declared.

Q% Dala type of each element i an array can be dilferent

Q4  The index of the last element in an array is the same as the (otal number ol elements
Q5  Itis not compulsory to explicitly mnitialize an array.

Qo6 [ he maximum number of dimensions for an array is not two.

Q7  The readability of an algorithm stays the same when using function.
Q8 A Tunction can call itsell.

Q9 A function may not receive parameter.

Q10 A function must return a value

SECTION B

Q11 Arrange the following steps to solve a problem by using a compuler.

Q12

COowp

i. Execute code.
ii. Problem solved.
ili. Analyze problem.
iv. Convert algorithm to code.
v. Develop algorithm.

ifi-v-iv-i-ii
111-v-1i-1v-1
V-iii-1v-i-ii

Select the TATST, statement regarding the characteristic of an algorithm.

A.
B.

C.

General and well ordered. A
The steps can be interpreted in multiple ways and can be performed without any
confusion.

Effectively computable operations.

Terminate after a finite number of steps. "?T"’"'«‘?‘ :
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Q13 Identify the general rules of naming an identifier.

DAT 13303

1. The first character must be a letter.
ii. A combination of letters and numbers can be used from the second character

onwards.

iii.  Characters representing operators can be used as part of the name.

iv.  Numbers can be used as the first character.

A. iandii

I} 1andiii

C. i, iiandiii

D. All the above

Q14 Determine which of the following are FALSE about the && operator.
1. Connects multiple conditions together.

ii.  Concatenate expression into a single string for output.
iili.  Requites Loth conditions Lo be tue belote exceuling statetnent(s) within the
selection or iteration structure.
iv.  Requires at least one condition to be true before executing statemenl(s) within the
seleclion ot iletation stiuctute

A. iandii

B. iandiii
C. i,1andii
D. iiandiv

Q15 Name the type of operators used in the condition below.

If (number > 0 OR number < 10)Then

Relational and Logical

T 0w

Concatenation

Logical and Arithmetic
Relational and Arithmetic

Q16 Dctermine which comparison expression evaluated true. Assume apple - 10, Oranye

= 20 and lemon = -5.

1.  apples <> oranges
ii.  lemon <=5
iii.  apples — lemon
iv.  oranges > 10

A. iandii
B. iandiii
C. 1i,iiandiii
D. i, iiandiv

(¥'S)
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Q17 Choose the TRUE statement about repetition control structure.
A.

B.

D

Conditional expression in while loop is evaluated first and if it is true, the associated
statement block is executed.

Conditional expression in do-while loop is evaluated first and if it is true, the
associated statement block is executed.

Inn while loop the statement block is executed first and then the conditional expression
is evaluated.

[n while loop, the statement block s execuled al least onee even il the conditional
expression is false at first attempt.

QI8  Determine the problem solved using repetition control structure
A

B
C
D

Determine whether a given year is a leap year or not.

. Calculate the sun ol mitegets.

Keep asking for password until the correet password is given.

. Determine whether a number is even or odd.

Q19 Given the following pseudocode. Detettnine the cu park charge if the condition evaluales
false.

OO0 TR

Start
Sel charge — 0
Input entry time, exit time
pericd = exit time - entry time
If period > 1 Then
charge = 2 + (period * 1)
Else
charge
End if
End

2

RM 3
RM 1
RM 0
RM 2

Q20 Choose the CORRECT statement to describe infinite loop.

cowx

i
ii.
11l.

v

Sequence of statements that loops endlessly.

The loop structure has a terminating condition.

Repeat a set of instructions until a specific condition is mel
The loop structure does not have a terminating condition.

1and 11

i and iii

iandiv -
i, ii and iv '

o e . S

[ TERB! UKA

|
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Q21 Convert the following algebraic expressions into expressions in pseudocode.

Jx+2

40— 1

a? {:bg 4+ CE:}
a? | dak?

(a) +3bct+ 4

(b)

(4 marks)

Q22 The following flowchart determines whether a vear is a leap vear or not Convert the
flowchart into a pseudocode

{ Start ﬁ

/ Output "Enter a year” /
/

False Y “
year=0

-~ -

S~

v

message = "Year must be
positive”

True

False

A 4

year%400==0 || year%100!=0

&& year%4—-0

message ="Not leap year”

F it

True

-

message ="Leap year”

B
o

>

/ Output message [/

(6.5 marks)

TERBUKA
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Q23  Given the following pseudocode.

1| Start

2 Set 0 to a

3 Set 0 te b

q Sek 0 wa €

5 Set 0 to idx

6 While idx < 40

7 Kead data

{1 e o | cata

9 If data > 0

10 h =h + data
i End 1f

L [t data & ¢ 0

13 a=a 1

14 lknd it
15 1dx = 1dx + Z
16 Fnd while

L/ Display "messagel: ", a, newline
18 Display "messageZ: ", b, newline
L9 Msplay "messages- ", ¢
20 | Fnd

(a) Identify the number of times the loop iterates.

(1 mark)
(b) Convert the pseudocode into a flowchart.
(10 marks)
(¢) Replace messagel, message2 and message3 with suitable messages.
(3 marks)
Q24  Write a pseudocode that generates the following pattern using nested loop.
1
12
123
1234
12345
(4 marks)
Q25 Given the following pseudocode.
Constant Integer 514k = 5
Declare Integer numbers[SIZE] = {3, 22, 1, 10, 9}
(a) State the subscript of the biggest data in the array.
’ (1 mark)
(b) State the value stored in numbers[2]. |
(1 mark)
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(c) State the value stored in numbers([3 * 2 - 2].

(1 mark)

Q26 Trace the following pseudocode using a tracing table and show the output.

Q27

028

num[5] = {2,
mod[5]

Sal 0 Lo xn
Whilo 1 < B

=D N

Add 1 to x
End while

w1 oy

91 set U to ¥y
LO | While v < b

12 Add 1 to vy
13 | End while

mod|lx] — nuwn(x] %

i Display modl[y],

4, 1,

Display "Output: "

12, 5}

Z

(4 marks)

Using an iteration control structure, write a pseudocode that generates the number pattern
-25,-20, -15, -10, -5, 0, 5, 10, 15, 20, 25.

(3 marks)

Write a pseudocode that ask the user to enter a number and display the answer. L'hen, ask
the user whether they wish to continue entering a number or not. If they wish to continue,
ask them to enter a number and display the answer again. Otherwise, terminate the
program. You must use an iteration control structure. Below is an example of the

expected screen.

Answer: 4

Answer: 49

Answer: 121

Enter a number: 2

Do you wish to continue
Enter a number: 7

Do you wish to continue
Enter a number: 11

Do you wish to continue

(Y / N]l: Y
[Y / N]: ¥
[Y / N]: N

(4 marks)

Q29 There are 20 students in a Mathematics class. Each of them is required o sil for three
tests. Using the two-dimensional (2D) array score [20] [3], write a pseudocode for each
of the following question.

T T T TH, &
H .:1 QA $1 1 . héh
A AN AP A A i A
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Q30

(a)

(b)

Read and store the score data for each student. Below is an example of the expected
screen.

Score student 1 test 1: 90
Score student 1 test 2: 95
Score student | test 3: 80
Score gtudent 2 test 1: 70
Score student 2 test 2: 75

? test 3I: 87

Score student

Score student 20 test 3: 98

(3.5 matks)

Calculale and display the avetage score [or each studenl. Below is an example of the
expected screen.

Averayge score sludenl 1: 88.3
Average score student ?2: 77.73

Avarage scere student 20: 95,0

(2.5 marks)

Calculate and display the average score for each test. Below is an example of the
expected screen.

Average score test 1: 95.9
Average score test 2: 89.5
Average score test 3: 86.2

(4 marks)

(d) Convert the pseudocode you have created in Q29(a), Q29(b) and Q29(¢) into a single
flowchart.
(9.5 marks)

Given is the information about the software produced by M Corporation.
Category Version Price (RM) Year
W 3.1 2500 2003
S 4.0 1200 2008
D 1.3 3500 2000
G 3.0 3000 2010
W 8.1 2500 2003
S 4.0 1200 2008 i

D 43 3500 _ 2000 b
S 3.2 3300 2012
D 4.4 3800 2009
& 4.0 3500 2009
8 CONFIDENTIAL
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Write a pseudocode for the following functions.

(a)

(b)

Function countSoftwareCategory counts the number of software by category and
displays the result in the following form.

Category Quantity
W ?
5 3
D 3
C &,

This function has the following prototype:

countSoftwareCategory (String category[])

(11.5 marks)

Function totalbrice calculates the total price of all software produced from the year
2008 unttl 2010 and returns the total price. This function has the following prototype:

tloat totallrice(integer year(], float pricell)

(4.5 marks)
The main function calls the function in Q30(a) and Q30(b), and displays the total

price of all software produced from the year 2008 until 2010. Assume the data have

been entered.
(2 marks)

-END OF QUESTIONS -

™~
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